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* 25| IUAREPBAT SH3EIAFHE 0.520 A 22,890 11,903

100058 #t & HNEEEIIHTHENE 6.000 % 22,878 1,373

A - 4B 8K LU E 24,251
B i 1.0 KLY 243
BiONFTHEEDEE 229
HilORAEBEMEDEEE 0

EED




B £ E M X

6374 |14 | MAE+HMEERE XE
1—FMNo | (#&1&) A 70wy H2J7J0vY 1 R B L
#1-2-32)128cm il £ (LUAAFDEET) = A&l 58 = Al 431 100 &
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.630 A 21,105 13,296
* 25| IUAREPBAT SH3EIAFHE 0.630 A 22,890 14,421

100058 #t & HNEEEIIHTHENE 6.000 % 27,717 1,663

i BER 4B 8K L E 29,380
B i 1.0 KLY 294
BiONFTHEEDEE 277
HilORAEBEMEDEEE 0

EED




B £ E M X

6376 |41 | MA+HMEEE KB
1—-FNo | (#&1&) rJavy H+2J7J0v5 1 R B L
#1-2-3)|10cmEl E16cmEiE (LUMEFHT) =% 58 =% 431 100 A&
H{fiNo £ G y5i % B = B i =N i * % & =
* 1% EEXE SH3FEIAFHE 0.240 A 21,105 5,065
* 25| IUAREPBAT SH3EIAFHE 0.240 A 22,890 5,494

1000|158 # #& SR EEREICx T EEE 8.000 % 10,559 845

& K 4E8RLLE 11,404
B i 1.0 KLY 114
BEORNFBEEDELE 106
HilORAEBEMEDEEE 0

EED




B £ E M X

6377 |4%3L | MAE+HMEEE AZ
1—FMNo | (#&1&) r>Jovy H2J7J0vY 1 R B L
#1-2-3)|16cmbl E22cmEiE (ILUFRFET) = N 58 = Al 431 100 &
H{fiNo £ G y5i ¥ B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.280 A 21,105 5,909
* 25| IUAREPBAT SH3EIAFHE 0.280 A 22,890 6,409

100058 #t & HNEEEIIHTHENE 8.000 % 12,318 985

g BER 4B 8K L E 13,303
B i 1.0 KLY 133
BiONFTHEEDEE 123
HilORAEBEMEDEEE 0

EED




B £ E M X

6378 |4 1L | MAE+HMEEE AZ
1—FMNo | (#&1&) r>Jovy H+2J7J0v5 1 R B L
#1-2-32))22cm L E28cmEkiEm  (LLUFKRFET) = N 58 = Al 431 100 &
H{fiNo £ G y5i % B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.310 A 21,105 6,543
* 25| IUAREPBAT SH3EIAFHE 0.310 A 22,890 7,096

100058 #t & HNEEEIIHTHENE 8.000 % 13,639 1,091

& K 4E8RLLE 14,730
B i 1.0 KLY 147
BEORNFBEEDELE 136
HilORAEBEMEDEEE 0

EED




B £ E M X

6379 |41 | MA+HMEEE KB
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
#1-2-32)128cm il £ (LUAAFDEET) = A&l 58 = Al 431 100 &
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.350 A 21,105 7,387
* 25| IUAREPBAT SH3EIAFHE 0.350 A 22,890 8,012
100058 #t & HNEEEIIHTHENE 8.000 % 15,399 1,232
i BER 4B 8K L E 16,631
B i 1.0 KLY 166
BiONFTHEEDEE 154
HilORAEBEMEDEEE 0
]




B £ E M X

6381 |E4 | mMAE+HMEEE KB
1—-FNo | (#&1&) rJavy H2J7J0vY 1 R B L
#1-2-3)10cmEl E16cmEim (ILUFRFET) = N 58 = Al 431 100 &
H{fiNo £ G y5i % B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.200 A 21,105 4,221
* 25| IUAREPBAT SH3EIAFHE 0.200 A 22,890 4,578

1000|5% # & HNEEEIIHTHENE 9.000 % 8,799 792

A - 4B 8K LU E 9,591
B i 1.0 KLY 96
BEORNFBEEDELE 88
HilORAEBEMEDEEE 0

EED




B £ E M X

6382 |E4] | mMAE+HMEEE KB
1—-FNo | (#&1&) rJavy H2J7J0vY 1 R B L
#1-2-3)|16cmbl E22cmEiE (ILUFRFET) = N 58 = Al 431 100 &
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.230 A 21,105 4,854
* 25| IUAREPBAT SH3EIAFHE 0.230 A 22,890 5,265

100058 #t & HNEEEIIHTHENE 9.000 % 10,119 911

i BER 4B 8K L E 11,030
B i 1.0 KLY 110
BiONFTHEEDEE 101
HilORAEBEMEDEEE 0

EED




B £ E M X

6383 |E4 | mMAE+HMEEE KB
1—-FNo | (#&1&) rJavy H2J7J0vY 1 R B L
#1-2-3)|22cm Pl E28cmEE (LLUAMEFHT) =% 58 =% 431 100 A&
H{fiNo £ G y5i % B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.260 A 21,105 5,487
* 25| IUAREPBAT SH3EIAFHE 0.260 A 22,890 5,951

100058 #t & HNEEEIIHTHENE 9.000 % 11,438 1,029

A - 4B 8K LU E 12,467
B i 1.0 KLY 125
BiONFTHEEDEE 114
HilORAEBEMEDEEE 0

EED




B £ E M X

6384 | EL] mAE+HMEEE KE
1—FMNo | (#&1&) r>Jovy H2J7J0vY 1 R B L
#1-2-32)128cm il £ (LUAAFDEET) = A&l 58 = Al 431 100 &
H{fiNo £ G y5i ¥ B = B I =N i * % & =
* 1% EEXE SH3FEIAFHE 0.290 A 21,105 6,120
* 25| IUAREPBAT SH3EIAFHE 0.290 A 22,890 6,638

100058 #t & HNEEEIIHTHENE 9.000 % 12,758 1,148

g BER 4B 8K L E 13,906
B i 1.0 KLY 139
BiONFTHEEDEE 128
HilORAEBEMEDEEE 0

EED




B £ E M X

6386 |} 1+ | mE+HREEE AE
I—FNo | (#i&) A>T 0v5 #7709 YRR fiT
#1-2-3)10cmEl E16cmEim (ILUFRFET) = N 58 = Al 431 100 &
H{fiNo % G 3 ¥ B = B I B * % & =
* 25| LU EE T SH3FEIAFHE 0.390 A 22,890 8,927

100038 # & XNEEEITNTIENE 1.000 % 8,927 89

A - 4B 8K LU E 9,016
B i 1.0 KLY 90
BEORNFBEEDELE 89
HilORAEBEMEDEEE 0

EED




B £ E M X

6387 | f | MA+HMEEE KB
1—-FNo | (#&1&) rJavy H2J7J0vY 1 R B L
#1-2-3)|16cmil E22cmEE (LUMEFHT) =% 58 =% 431 100 A&
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 25| LU EE T SH3FEIAFHE 0.510 A 22,890 11,674

100038 # & XNEEEITNTIENE 1.000 % 11,674 117

A - 4B 8K LU E 11,791
B i 1.0 KLY 118
BiONFTHEEDEE 117
HilORAEBEMEDEEE 0

EED




B £ E M X

6388 | A f | MA+HMEEE KB
1—-FNo | (#&1&) rJavy H2J7J0vY 1 R B L
#1-2-3)|22cm Pl E28cmEE (LLUAMEFHT) =% 58 =% 431 100 A&
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 25| LU EE T SH3FEIAFHE 0.620 A 22,890 14,192

100038 # & XNEEEITNTIENE 1.000 % 14,192 142

A - 4B 8K LU E 14,334
B i 1.0 KLY 143
BiONFTHEEDEE 142
HilORAEBEMEDEEE 0

EED




B £ E M X

6389 | { mAE+HMEEE KE
1—-FNo | (#&1&) roJavy H2J7J0vY 1 R B L
#1-2-32)128cm il £ (LUAAFDEET) = A&l 58 = Al 431 100 &
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 25| LU EE T SH3FEIAFHE 0.710 A 22,890 16,252

100038 # & XNEEEITNTIENE 1.000 % 16,252 163

& K 4E8RLLE 16,415
B i 1.0 KLY 164
BEORNFBEEDELE 163
HilORAEBEMEDEEE 0

EED




B £ E M X

6401 |43 -t$h- EU)- H 4T | mAE+HMEEE KE
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
10cmBl E16cmAid (LLUAEDELT) = 4l 58 =50 431 1A

B {fiNo £ g1 3 % B = B4 B & ] & =
63711 E! 10omBELE 16cmaki# (LAESRET) 1.000 PN 149 149
6376| k%34 10omBLE 16cmski® (LAESRET) 1.000 A 114 114
6381|E4Y] 10cmBl_k16cmskif (LUFEYEET) 1.000 7N 96 96
6386 i 4+ 10cmbl E16cmaki (LLARFSRE T) 1.000 PN 90 90
& K 4E8RLLE 449
B i 1.0 KLY 449
BEORNFBEEDELE 424
BDQRABRMEDOEEE 0

EED




B £ E M X

6402 |1 -t 4 - E)- H o | mAE+HMEEE KE
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
16cmbl E22cmEiE (IUAEPEFT) = 4l 58 =50 431 1A

B {fiNo £ G y5i % B = B i =N i * % & =
6372[{% 43 16cm il E22cm3kil (LIAREDES T) 1.000 X 196 196
63778 $h 16cmBlE22omski# (LIAKRLRST) 1.000 i 133 133
6382 E ] 16cmBlb220mskiE (IAKRLRET) 1.000 7N 110 110
6387 & 1+t 16cmBlE22omski# (LIAKRLRST) 1.000 i 118 118
g BER 4B 8K L E 557
B i 1.0 KLY 557
BEORNFBEEDELE 526
BDQRABRMEDOEEE 0

EED




B £ E M X

6403 |1 -tk fh - E)- H 4 | mAE+HMEEE KE
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
22cmpl £ 28cmakiE  (LUAMELESG T) = 4l 58 =50 431 1A

B {fiNo £ g1 3 % B = B i B & ] & =
6373[ 1% {3 220mBlk28cmskil (WIAKESRET) 1.000 PN 243 243
6378|411 22cmBA E28cmakis (LLIAKESRET) 1.000 PN 147 147
6383 E ] 22cml k28cmzkit (ILIAKESBET) 1.000 7N 125 125
6388/ & 1+t 22cml b 28cm3ki (ILIAKRLRET) 1.000 PN 143 143
H A - 4B 8K LU E 658
B i 1.0 A%y 658
BEORNFBEEDELE 621
BDQRABRMEDOEEE 0

EED




B £ E M X

6404 |1 -t 4 - E)- H o | mAE+HMEEE KE
1—FMNo | (#&1&) rJAavy H+2J7J0v5 1 R B L
28cmPl b (LUMELEFT) =% 58 =% 431 1K

B {fiNo £ g1 3 % B = B i B & ] & =
63741 28cml £ (LUAFPEET) 1.000 X 294 294
6379| k%34 28cmil E (LUAMEPBET) 1.000 A 166 166
6384| E 1] 28cmilt (LUAREPBAFT) 1.000 X 139 139
6389| K {F 28cmil E (LUAMEPBET) 1.000 A 164 164
g K 4E8 R LLE 763
B i 1.0 KLY 763
BiONFTHEEDEE 722
BDQRABRMEDOEEE 0

EED




B £ E M X

6409 |F+vybor— BIBEHBEEE (W) | OE+HMEEE K2
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
#8-6 |—JILHUL—2 Bk =% 58 = Al 431 10 m
H{fiNo £ G 3 ¥ B = B I =N i * % & =
* 24| X R— AR EE% SH3FEIAFHE 0.100 A 23,205 2,321
* 6l U T SH3EIAFHE 0.400 A 24,570 9,828
* 25| LU EE T SH3FEIAFHE 0.400 A 22,890 9,156

100038 # & XNEEEITNTIENE 14.000 % 21,305 2,983

7006(—JILOL—2 Bk E piikl 0.180 t 1,650 297 |onerr0nsim 1522002850150 010

i BER 4B 8K L E 24,585
B i 1.0 mY) 2,459
BEORNFBEEDELE 2,159
HilORAEBEMEDEEE 0

EED




B £ E M X

6416 |HEEH B EREEBE (L) | mAE+HMEEE KE
I—FNo | (#i&) A>T 0v5 #7709 YRR BT
TERYNEL 7—TILHL— &Rk = A&l 58 = Al 431 100 $#hm2
H{fiNo £ G y5i ¥ B = B I =N i * % & =
* 24| X R— AR EE% SH3FEIAFHE 1.400 A 23,205 32,487
* 6l U T SH3EIAFHE 4.100 A 24,570 100,737
* 25| LU EE T SH3FEIAFHE 2.500 A 22,890 57,225
* 4551 |5r=7 WL —nBERER & (3tLL L4tk iE) |20 tBE#(V ryb) 670 B T3kw 0.800 H 27,200 21,760
100058 #t & HNEEEIIHTHENE 35.000 % 212,209 74,273
7006| 7 —TILOL— B E itk 0.650 t 1,650 (0L K] P ——
g BER 4B 8K L E 287,555
B i 1.0 #im24Y 2,876
BEORNFBEEDELE 2,084
HilORAEBEMEDEEE 0
(EZE] 7-7 9L —-UiRgER




B E E i x
6422 [910FA—AR5% - HE ) | ME+HMERE AE
1—-FNo | (#&1&) roJavy H2J7J0vY 1 R B L
$#£2-7(3)|3~ 64 B & i (L A8 $140%) =450 58 =450 431 1 &
H{fiNo £ G 3 ¥ B = B I =N i * % & =
24| X R— AR EE% SH3FEIAFHE 2.000 A 23,205 46,410
25| IUAREPBAT SH3EIAFHE 5.700 A 22,890 130,473
x 2770 F # () L=36m~40m E=18om~220m 0.760 m3 12,166 9,246/1.9 X 0.4=0.76
100038 # & XNEEEITNTIENE 5.000 % 9,246 462
i BER 4B 8K L E 186,591
B i 1.0 FE3Y 186,591
BEORNFBEEDELE 176,883
BDQRABRMEDOEEE 9,246
BEZE] HHAFE 0.18x0.18 X3 X% 20=1.9m3




B £ E M X

6433 |Fuh—-225% - WEIA AN 1) | MAE+HMEERE XE
I—FNo | (#i&) A>T 0v5 #7709 YRR fiT
H2-TD|HAIEAH (BtLl E4tKim) =% 58 =% 431 1 &
H{fiNo £ G y5i % B = B I =N i * % & =

4576|7Uh—RER - BEIA D] (W) [hkiEiAa (3t E4atkiE) 1.000 P 343,917 343,917
x  27172|F # () L=3.6m~4.0m E=18cm~220m 0.250 m3 9,500 2,375

1000|5% # & HNEEEIIHTHENE 5.000 % 2,375 119

& K 4E8RLLE 346,411
B i 1.0 FE3Y 346,411
BEORNFBEEDELE 343,917
BDQRABRMEDOEEE 2,375
HEE] ¢0.25x%0.25 X 2m X 224=0.25m3




B £ E M X

6515 [r—7nov—vmepmas sl b auksgiow) ME+HNEEE KE
1—-FNo | (#&1&) rJavy H2J7J0vY 3 A=K
#2-7 |(76~125m) =450 58 =40 431 S
H{fiNo £ G y5i ¥ B = B I =N i * % & =
* 24| X R— AR EE% SH3FEIAFHE 6.000 A 23,205 139,230|28 %
* 6l& U T SH3EI/FE 26.000 A 24,570 638,820 22 %
* 25| LU EE T SH3FEIAFHE 16.000 A 22,890 366,240| 22 5%
* 24| T R— AR EE% SH3EI/FHE 3.000 A 23,205 69,615|18 %
* 6l& U T SH3FEIAFHE 11.000 A 24,570 270,270|#E
* 25| IUAMFPBE T SH3EI/FHE 8.000 A 22,890 183,120|#8%
4539|5-7 WL - BEriR B (3t Atk i) | B 5% - K 4.3 B T3kW 5.000 =] 25,015 125,075
4551 |r=7' WL — B Enid & (3tLL k4t iE) | 2 D&+ (W yb) 6.7h B 73kw 1.000 H 27,200 27,200
6547| DA F -4V —EH 5.000 A 379,149 1,895,745
100038 # & XNEEEITNTIENE 0.500 % 1,667,295 8,336
g BER 4B 8K L E 3,723,651
B i 1.0 XHY 3,723,651
BEORNFBEEDELE 1,793,925
HilORAEBEMEDEEE 0

EED

A#AN




B £ E M X

6547 |91 F- DA — E§ | OE+HMEEE K2
1—FMNo | (#&1&) r>Jovy H2J7J0vY 1 R B L
= %0 58 =40 431 1B
H{fiNo £ G y5i % B = B I =N i * % & =
2087|EXREH 6x7 & 34mm 140500 HB/m 522 73,341| £ F&
2096| R R -ELREH 6x19 & 18mm 180.500, A/m 97 17,509(% k3%
2996| RFR-BLREH 6x19 & 18mm 251.000 H/m 97 24,347|8B %
2067 VA FEHR 4t (TE&ED) 1.000 A 263,952 263,952 DA F
& K 4E8RLLE 379,149
B i 1.0 A3Y 379,149
HiliOoAFHEEDNDEE 0
HilORAEBEMEDEEE 0

EED




B £ E M X

6570 | THEME AR (A - #H ST | mAE+HMEEE KE
1—FMNo | (#&1&) r>Jovy H+2J7J0v5 1 R B L
$B2-5 |3tLLF 0.10m3/8vyHRy (r—J )LoL—V) = 4l 58 =40 431 1 [
H{fiNo £ G y5i % B = B I =N i * % & =
1% EEXE SIH3EIAFE 4.100 A 21,105 86,531 |5 #2(1.4%4.2-2.7)%1.3=4.1
* 11455 1EXER SF3EIAFE 4.700 A 21,105 99,194 |4877(1.6%4.2-3.1)%1.3=4.7
100058 #t & HNEEEIIHTHENE 2.000 % 99,194 1,984
4551 7—7' ML — B iR B (3t L 4tk ) | £ D&M (W rob) 6.7h B T3kw 1.100 = 27,200 29,920(0.4+0.7=1.1
& K 4E8RLLE 217,629
B i 1.0 [E1&Y 217,629
BEORNFBEEDELE 208,941
HilORAEBEMEDEEE 0

(FZ] EiBH

SfR 02%x42-04=04 #A3I 0.3%x4.2-05=0.7




|k HE X
6757 |r-7 1o - meu sk | ME+HNEEE KE
1—-FNo | (#&1&) rJavy H+2J7J0v5 1 R B L
$#2-6(9)H|3A9")—F5.3h. B 73kw =] 58 =] 431 1H
B {fiNo £ G y5i % B = B i =N i * % & =
1% EEXE SH3FEIAFHE 1.000 A 21,105 21,105
0|8  H 42.000 L 115 4830
25| LU EE T SH3FEIAFHE 2.000 A 22,890 45,780
3031|a ) —k\ryhEH iR HEISKB—8 A E0.8m3 1.000 = 1,250 1,250
A - 4B 8K LU E 72,965
B i 1.0 H3Y 72,965
BEORNFBEEDELE 66,885
BDQRABRMEDOEEE 0
HEE] 4 F73kw x FEHEEZ0.108 X B H71-U:EERF/HE5.3




|k HE X
6779 |r-7 1o @ mGu sk | ME+HNEEE KE
I—FNo | (#i&) A>T 0v5 #7709 YRR BT
#2-6(9))|F DM EF (N ryb) 6.7h. B 73kw =40 58 =40 431 1 H
H{fiNo £ G y5i % B = B I =N i g ] & =
1% EEXE SH3FEIAFHE 1.000 A 21,105 21,105
0|8  H 53.000 L 115 6,095
25| LU EE T SH3FEIAFHE 4.000 A 22,890 91,560
3032|714 —EvaiEH 12mm * 9 * 1.8m 1.000 = 64 64
& K 4E8RLLE 118,824
B i 1.0 H3Y 118,824
BEORNFBEEDELE 112,665
HilORAEBEMEDEEE 0

BEE] R EMRBEEEME, 91/ F73kw X BRELEE 30.108 x A 7-UEERRFRI6.7




B @ =
7001 |r—J VoL —2BikE mAE+HMEEE KE
I—FNo | (#i&) A>T 0v5 #7709 YRR BT
SERETYH1—h = 4l 58 = Al 431 1 m3
H{fiNo £ G y5i % B = B I =N i * % & =
6757 (-7 1o —viBenE B G skl |3V9')—15.3h B 73kw 1/44.8 = 72,965 1,629
& K 4E8RLLE 1,629
B i 1.0 m3&Y) 1,629
BEORNFBEEDELE 1,493
HilORAEBEMEDEEE 0

EED




B i =

7004 |r—2 L HOL—ERE mAE+HMEEE KE
1—FMNo | (#&1&) r>Jovy H+2J7J0v5 1 R B L
T =% 58 =% 431 1 m3
B {fiNo £ G y5i % B = B i =N i & ] & =
677977 ML —VBERR B (3tLL 4R L) | Z DB H (N TP 6.7h B T3kw 1/42 = 118,824 2,829
& K 4E8RLLE 2,829
B i 1.0 m3&Y) 2,829
BEORNFBEEDELE 2,683
BDQRABRMEDOEEE 0

EED




B i =

7005 |r—JIILOL—2 Bk E mAE+HMEEE KE
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
F-FER =% 58 =% 431 1 m3
B {fiNo £ g1 3 % B = B i B & ] & =
6779|7—7 1oL BERR BBt F 4R (L) [Z Dt EH (o) 670 B T3kw 1/48 = 118,824 2,476
& K 4E8RLLE 2476
B i 1.0 m3&Y) 2,476
BiONFTHEEDEE 2,347
BDQRABRMEDOEEE 0

EED




B i =

7006 |7r—2IILHOL—ERE mAE+HMEEE KE
1—FMNo | (#&1&) r>Jovy H+2J7J0v5 1 R B L
ikl =% 58 =50 431 1t
B {fiNo £ G y5i % B = B i =N i & & & =
677977 ML —VBERR B (3tLL 4R L) | Z DB H (N TP 6.7h B T3kw 1/72 = 118,824 1,650
g BER 4B 8K L E 1,650
B i 1.0 tHY 1,650
BEORNFBEEDELE 1,565
BDQRABRMEDOEEE 0

EED




B @ *
7007 |r—J Lo —2 Bk E | OF+HMEEE AE
I—FNo | (#i&) A>T 0v5 #7709 YRR BT
R = A&l 58 =50 431 1 m3
H{fiNo £ 7 b5 i) B = B ff i &+ % i =z
677977 oL BEEAR B (3tE) b 4R i) | Z DB B (VAP 6.7h B T3kw 1/30 =| 118,824 3,961
g WK : 4B 8K E 3,961
! fiff 1.0 m34Y) 3,961
HlDORAFHEEDEEE 3,756
HifiDNEEMFEDEEE 0

EED




B @ *
7008 |r—o oL — @i GomEnEL) MA+HMEEE KB
I—FNo | (#i&) A>T 0v5 #7709 YRR BT
T& = A&l 58 = A&l 431 1 m3
B {fiNo £ 7 b5 % B = B I B & % fi& 5
6779|7-7 1oL BERR B3t 4R L) [Z DB H (VD) 6.7h B T3kw 1/46.2 =| 118,824 2,572
& A 4B 8K LLE 2,572
B i 1.0 m34Y) 2,572
HlDORAFHEEDEEE 2,439
HifDAEBEMEDELE 0

EED




B @ =
7010 |#&H & T (4£20cm) | MA+HMEEE KB
J1—FNo | (#8:&) AoJavy H+2J7J0vH YER BT
F-7WL-UAE R ILHEEE T (BEA) =450 58 =450 431 1 m2
B {fiNo £ G y5i % B = B i B & ] & =
3826|Frm A (BEA) $20cm 1.000 m2 1,280 1,280
7005(7—JIILOL—2EikE wF-FER 0.200 m3 2,476 495]1/4.89 x 1.2=0.20
3819| 4 a /NEVEE 1 0.080 m3 21,300 1,704[0.07 X 1.12=0.08
7001 (r—JIILOL—rBikE SERETYH1—p 0.070 m3 1,629 114
556|FE B iE{LE —— L& (VU) IE#£50 D60 X t1.8mm 0.070 m 167 12
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